
sin(0◦) = 0.000000,
sin(0.25◦) = 0.004363,
sin(0.5◦) = 0.008726,
sin(0.75◦) = 0.013089,
sin(1◦) = 0.017452,
sin(1.25◦) = 0.021814,
sin(1.5◦) = 0.026176,
sin(1.75◦) = 0.030538,
sin(2◦) = 0.034899,
sin(2.25◦) = 0.039259,
sin(2.5◦) = 0.043619,
sin(2.75◦) = 0.047978,
sin(3◦) = 0.052335,
sin(3.25◦) = 0.056692,
sin(3.5◦) = 0.061048,
sin(3.75◦) = 0.065403,
sin(4◦) = 0.069756,
sin(4.25◦) = 0.074108,
sin(4.5◦) = 0.078459,
sin(4.75◦) = 0.082808,
sin(5◦) = 0.087155,
sin(5.25◦) = 0.091501,
sin(5.5◦) = 0.095845,
sin(5.75◦) = 0.100188,
sin(6◦) = 0.104528,
sin(6.25◦) = 0.108866,
sin(6.5◦) = 0.113203,
sin(6.75◦) = 0.117537,
sin(7◦) = 0.121869,
sin(7.25◦) = 0.126198,
sin(7.5◦) = 0.130526,
sin(7.75◦) = 0.134850,
sin(8◦) = 0.139173,
sin(8.25◦) = 0.143492,
sin(8.5◦) = 0.147809,
sin(8.75◦) = 0.152123,
sin(9◦) = 0.156434,
sin(9.25◦) = 0.160742,
sin(9.5◦) = 0.165047,
sin(9.75◦) = 0.169349,
sin(10◦) = 0.173648,
sin(10.25◦) = 0.177943,
sin(10.5◦) = 0.182235,
sin(10.75◦) = 0.186524,
sin(11◦) = 0.190808,
sin(11.25◦) = 0.195090,
sin(11.5◦) = 0.199367,
sin(11.75◦) = 0.203641,
sin(12◦) = 0.207911,
sin(12.25◦) = 0.212177,
sin(12.5◦) = 0.216439,
sin(12.75◦) = 0.220697,
sin(13◦) = 0.224951,

sin(13.25◦) = 0.229200,
sin(13.5◦) = 0.233445,
sin(13.75◦) = 0.237685,
sin(14◦) = 0.241921,
sin(14.25◦) = 0.246153,
sin(14.5◦) = 0.250380,
sin(14.75◦) = 0.254601,
sin(15◦) = 0.258819,
sin(15.25◦) = 0.263031,
sin(15.5◦) = 0.267238,
sin(15.75◦) = 0.271440,
sin(16◦) = 0.275637,
sin(16.25◦) = 0.279829,
sin(16.5◦) = 0.284015,
sin(16.75◦) = 0.288196,
sin(17◦) = 0.292371,
sin(17.25◦) = 0.296541,
sin(17.5◦) = 0.300705,
sin(17.75◦) = 0.304864,
sin(18◦) = 0.309016,
sin(18.25◦) = 0.313163,
sin(18.5◦) = 0.317304,
sin(18.75◦) = 0.321439,
sin(19◦) = 0.325568,
sin(19.25◦) = 0.329690,
sin(19.5◦) = 0.333806,
sin(19.75◦) = 0.337916,
sin(20◦) = 0.342020,
sin(20.25◦) = 0.346117,
sin(20.5◦) = 0.350207,
sin(20.75◦) = 0.354291,
sin(21◦) = 0.358367,
sin(21.25◦) = 0.362438,
sin(21.5◦) = 0.366501,
sin(21.75◦) = 0.370557,
sin(22◦) = 0.374606,
sin(22.25◦) = 0.378648,
sin(22.5◦) = 0.382683,
sin(22.75◦) = 0.386710,
sin(23◦) = 0.390731,
sin(23.25◦) = 0.394743,
sin(23.5◦) = 0.398749,
sin(23.75◦) = 0.402746,
sin(24◦) = 0.406736,
sin(24.25◦) = 0.410718,
sin(24.5◦) = 0.414693,
sin(24.75◦) = 0.418659,
sin(25◦) = 0.422618,
sin(25.25◦) = 0.426568,
sin(25.5◦) = 0.430511,
sin(25.75◦) = 0.434445,
sin(26◦) = 0.438371,
sin(26.25◦) = 0.442288,
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sin(26.5◦) = 0.446197,
sin(26.75◦) = 0.450098,
sin(27◦) = 0.453990,
sin(27.25◦) = 0.457873,
sin(27.5◦) = 0.461748,
sin(27.75◦) = 0.465614,
sin(28◦) = 0.469471,
sin(28.25◦) = 0.473319,
sin(28.5◦) = 0.477158,
sin(28.75◦) = 0.480988,
sin(29◦) = 0.484809,
sin(29.25◦) = 0.488621,
sin(29.5◦) = 0.492423,
sin(29.75◦) = 0.496216,
sin(30◦) = 0.500000,
sin(30.25◦) = 0.503773,
sin(30.5◦) = 0.507538,
sin(30.75◦) = 0.511293,
sin(31◦) = 0.515038,
sin(31.25◦) = 0.518773,
sin(31.5◦) = 0.522498,
sin(31.75◦) = 0.526213,
sin(32◦) = 0.529919,
sin(32.25◦) = 0.533614,
sin(32.5◦) = 0.537299,
sin(32.75◦) = 0.540974,
sin(33◦) = 0.544639,
sin(33.25◦) = 0.548293,
sin(33.5◦) = 0.551936,
sin(33.75◦) = 0.555570,
sin(34◦) = 0.559192,
sin(34.25◦) = 0.562804,
sin(34.5◦) = 0.566406,
sin(34.75◦) = 0.569996,
sin(35◦) = 0.573576,
sin(35.25◦) = 0.577145,
sin(35.5◦) = 0.580702,
sin(35.75◦) = 0.584249,
sin(36◦) = 0.587785,
sin(36.25◦) = 0.591309,
sin(36.5◦) = 0.594822,
sin(36.75◦) = 0.598324,
sin(37◦) = 0.601815,
sin(37.25◦) = 0.605293,
sin(37.5◦) = 0.608761,
sin(37.75◦) = 0.612217,
sin(38◦) = 0.615661,
sin(38.25◦) = 0.619093,
sin(38.5◦) = 0.622514,
sin(38.75◦) = 0.625923,
sin(39◦) = 0.629320,
sin(39.25◦) = 0.632705,
sin(39.5◦) = 0.636078,

sin(39.75◦) = 0.639439,
sin(40◦) = 0.642787,
sin(40.25◦) = 0.646123,
sin(40.5◦) = 0.649448,
sin(40.75◦) = 0.652759,
sin(41◦) = 0.656059,
sin(41.25◦) = 0.659345,
sin(41.5◦) = 0.662620,
sin(41.75◦) = 0.665881,
sin(42◦) = 0.669130,
sin(42.25◦) = 0.672366,
sin(42.5◦) = 0.675590,
sin(42.75◦) = 0.678800,
sin(43◦) = 0.681998,
sin(43.25◦) = 0.685182,
sin(43.5◦) = 0.688354,
sin(43.75◦) = 0.691513,
sin(44◦) = 0.694658,
sin(44.25◦) = 0.697790,
sin(44.5◦) = 0.700909,
sin(44.75◦) = 0.704014,
sin(45◦) = 0.707106,
sin(45.25◦) = 0.710185,
sin(45.5◦) = 0.713250,
sin(45.75◦) = 0.716301,
sin(46◦) = 0.719339,
sin(46.25◦) = 0.722363,
sin(46.5◦) = 0.725374,
sin(46.75◦) = 0.728370,
sin(47◦) = 0.731353,
sin(47.25◦) = 0.734322,
sin(47.5◦) = 0.737277,
sin(47.75◦) = 0.740218,
sin(48◦) = 0.743144,
sin(48.25◦) = 0.746057,
sin(48.5◦) = 0.748955,
sin(48.75◦) = 0.751839,
sin(49◦) = 0.754709,
sin(49.25◦) = 0.757564,
sin(49.5◦) = 0.760405,
sin(49.75◦) = 0.763232,
sin(50◦) = 0.766044,
sin(50.25◦) = 0.768841,
sin(50.5◦) = 0.771624,
sin(50.75◦) = 0.774392,
sin(51◦) = 0.777145,
sin(51.25◦) = 0.779884,
sin(51.5◦) = 0.782608,
sin(51.75◦) = 0.785316,
sin(52◦) = 0.788010,
sin(52.25◦) = 0.790689,
sin(52.5◦) = 0.793353,
sin(52.75◦) = 0.796002,
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sin(53◦) = 0.798635,
sin(53.25◦) = 0.801253,
sin(53.5◦) = 0.803856,
sin(53.75◦) = 0.806444,
sin(54◦) = 0.809016,
sin(54.25◦) = 0.811573,
sin(54.5◦) = 0.814115,
sin(54.75◦) = 0.816641,
sin(55◦) = 0.819152,
sin(55.25◦) = 0.821646,
sin(55.5◦) = 0.824126,
sin(55.75◦) = 0.826589,
sin(56◦) = 0.829037,
sin(56.25◦) = 0.831469,
sin(56.5◦) = 0.833885,
sin(56.75◦) = 0.836286,
sin(57◦) = 0.838670,
sin(57.25◦) = 0.841039,
sin(57.5◦) = 0.843391,
sin(57.75◦) = 0.845727,
sin(58◦) = 0.848048,
sin(58.25◦) = 0.850352,
sin(58.5◦) = 0.852640,
sin(58.75◦) = 0.854911,
sin(59◦) = 0.857167,
sin(59.25◦) = 0.859406,
sin(59.5◦) = 0.861629,
sin(59.75◦) = 0.863835,
sin(60◦) = 0.866025,
sin(60.25◦) = 0.868198,
sin(60.5◦) = 0.870355,
sin(60.75◦) = 0.872496,
sin(61◦) = 0.874619,
sin(61.25◦) = 0.876726,
sin(61.5◦) = 0.878817,
sin(61.75◦) = 0.880890,
sin(62◦) = 0.882947,
sin(62.25◦) = 0.884987,
sin(62.5◦) = 0.887010,
sin(62.75◦) = 0.889017,
sin(63◦) = 0.891006,
sin(63.25◦) = 0.892978,
sin(63.5◦) = 0.894934,
sin(63.75◦) = 0.896872,
sin(64◦) = 0.898794,
sin(64.25◦) = 0.900698,
sin(64.5◦) = 0.902585,
sin(64.75◦) = 0.904455,
sin(65◦) = 0.906307,
sin(65.25◦) = 0.908143,
sin(65.5◦) = 0.909961,
sin(65.75◦) = 0.911762,
sin(66◦) = 0.913545,

sin(66.25◦) = 0.915311,
sin(66.5◦) = 0.917060,
sin(66.75◦) = 0.918791,
sin(67◦) = 0.920504,
sin(67.25◦) = 0.922200,
sin(67.5◦) = 0.923879,
sin(67.75◦) = 0.925540,
sin(68◦) = 0.927183,
sin(68.25◦) = 0.928809,
sin(68.5◦) = 0.930417,
sin(68.75◦) = 0.932007,
sin(69◦) = 0.933580,
sin(69.25◦) = 0.935135,
sin(69.5◦) = 0.936672,
sin(69.75◦) = 0.938191,
sin(70◦) = 0.939692,
sin(70.25◦) = 0.941176,
sin(70.5◦) = 0.942641,
sin(70.75◦) = 0.944089,
sin(71◦) = 0.945518,
sin(71.25◦) = 0.946930,
sin(71.5◦) = 0.948323,
sin(71.75◦) = 0.949699,
sin(72◦) = 0.951056,
sin(72.25◦) = 0.952395,
sin(72.5◦) = 0.953716,
sin(72.75◦) = 0.955019,
sin(73◦) = 0.956304,
sin(73.25◦) = 0.957571,
sin(73.5◦) = 0.958819,
sin(73.75◦) = 0.960049,
sin(74◦) = 0.961261,
sin(74.25◦) = 0.962455,
sin(74.5◦) = 0.963630,
sin(74.75◦) = 0.964787,
sin(75◦) = 0.965925,
sin(75.25◦) = 0.967045,
sin(75.5◦) = 0.968147,
sin(75.75◦) = 0.969230,
sin(76◦) = 0.970295,
sin(76.25◦) = 0.971342,
sin(76.5◦) = 0.972369,
sin(76.75◦) = 0.973379,
sin(77◦) = 0.974370,
sin(77.25◦) = 0.975342,
sin(77.5◦) = 0.976296,
sin(77.75◦) = 0.977231,
sin(78◦) = 0.978147,
sin(78.25◦) = 0.979045,
sin(78.5◦) = 0.979924,
sin(78.75◦) = 0.980785,
sin(79◦) = 0.981627,
sin(79.25◦) = 0.982450,
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sin(79.5◦) = 0.983254,
sin(79.75◦) = 0.984040,
sin(80◦) = 0.984807,
sin(80.25◦) = 0.985556,
sin(80.5◦) = 0.986285,
sin(80.75◦) = 0.986996,
sin(81◦) = 0.987688,
sin(81.25◦) = 0.988361,
sin(81.5◦) = 0.989015,
sin(81.75◦) = 0.989651,
sin(82◦) = 0.990268,
sin(82.25◦) = 0.990865,
sin(82.5◦) = 0.991444,
sin(82.75◦) = 0.992004,
sin(83◦) = 0.992546,
sin(83.25◦) = 0.993068,
sin(83.5◦) = 0.993571,
sin(83.75◦) = 0.994056,
sin(84◦) = 0.994521,
sin(84.25◦) = 0.994968,
sin(84.5◦) = 0.995396,
sin(84.75◦) = 0.995804,
sin(85◦) = 0.996194,
sin(85.25◦) = 0.996565,
sin(85.5◦) = 0.996917,
sin(85.75◦) = 0.997250,
sin(86◦) = 0.997564,
sin(86.25◦) = 0.997858,
sin(86.5◦) = 0.998134,
sin(86.75◦) = 0.998391,
sin(87◦) = 0.998629,
sin(87.25◦) = 0.998848,
sin(87.5◦) = 0.999048,
sin(87.75◦) = 0.999229,
sin(88◦) = 0.999390,
sin(88.25◦) = 0.999533,
sin(88.5◦) = 0.999657,
sin(88.75◦) = 0.999762,
sin(89◦) = 0.999847,
sin(89.25◦) = 0.999914,
sin(89.5◦) = 0.999961,
sin(89.75◦) = 0.999990,
sin(90◦) = 1.000000,
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